F1421 Zakladni matematické metody ve fyzice Petr Safaiik
F1421 —-HW8 - 051124 UCO: 175826

A)
y'-5y+4y=0
A?-50+4=0
(A-1)(4-4)=0
=1
), =4
y= Cexpl4x]+ C, explx]

Pocatecni podminky:
Vo) = 1

o) = 1
(1):c,+¢C, =1

(2) :4C, exp(4x) + C, exp(x) =1
4C+ C, = 1
(1):¢ = 1-¢C,
41-C,)+ ¢, =1
3= 3C,

C,=1
C,=1-C,=1-1= 0

y= Oexp(4x)+ e =e'
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B)
y'-2y'+ 2y = 4e*(cosx- xsinx)
12-20+2=0
21 +4-8 .
A1,2 = T: li l

y=C, expx(1+ i)+ C, expx(l- i)

P= 4¢*(cosx- xsinx]
0 =1
p=1
m=0
n=1
r=1
Predpokladané feseni:
Vp = xex[(Ax+ B)sinx+ (Cx+ D)cosxl
Ve = ex(cosx(sz + Bx+ 2A4x+ B+ Cx* + Dx)+ sinx(Cx2 + Dx- Ax” - Bx+ 2Cx+ D))

o= e'|cosx|4dx+ 2B+ 2Cx* + 2Dx+ 24+ 4Cx+ 2D)+ sinx|- 24x> - 2Bx+ 4Cx+ 2D+ 2C+ 44~ 2B)|
Dosazeni do pivodni rovnice:

Pro cosx

x*(2C-24-2C+24)= 0x?

0=0

2B+ 24+ 2D-2B= 4

A+ D=2

Pro sinx:

x*(- 24+ 2C+ 24+ 2C) = 0x?

0=0

x(- 2B+ 4C+ 44- 2D+ 2B- 4C+ 2D)= 4
44= 4

A=1

D+2C-2B-2D=0

2C-2B=0

B=0

A+ D=2;4=10 D=1

y= Ce'cosxt Cye’sinx+ e*|x’cosx+ xsinx
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C)
y'-3y'+2y:= e"(3- 4x)
A?-31+2:=0
(A-2)1-1=0
Ao=1
A,=2
yo= G exp(2x)+ G, exp(x)

Y, = xex(Ax+ B)
y,* Ax’e* + Bxe"
y, = 2Axe" + Ax’e’ + Be* + Bxe"

y; = 2Axe" + 2Ae* + 2Axe™ + Ax’e* + Be* + Be* + Bxe”

Ax’e* + 4Axe* + 2Ae* + 2Be* + Bxe® - 6Axe* - 34Ax’e* + 24x%e* + 2Bxe* - 3Be* - 3Bxe” = ¢*(3- 4x)
Vykratime : e*
(1-3+2)Ax?+ (4- 6)Ax+ 24+ (2- 3)B+ Bx(1+ 2- 3)= 3- 4x

-2xA+ 2A- B=3- 4x
24x=4x0 A=2

24- B=310 B=1

Y=»ty,
y=C exp(2x) t C, exp(x) + xe“(2x+ 1)



